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Please check that this question paper contains 10 printed pages +2 Maps.

Code number given on the right hand side of the question paper should be written (
title page of the answer-book by the candidate.

Please check that this question paper contains 19 questions.

Please write down the serial number of the question before attempting it.
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General Instructions :

0]
(i)
(i)
(iv)
(V)

(vi)

There arel9 general questions.

All questions are compulsory.

Marks for each question are indicated against it.

Question numberd to 10 are short answer questions carryil@gmarks each.
Answer to each of these questions should not ex@@edbrds.

Question numberkl to 15 are also short answer questions carryhgarks each.
Answer to each of these questions should not ext2eedvords.

Question numberd6, 17 and 18 are long answer questions 6f marks each.
Answer to each of these questions should not exte@dvords.

(vii) Question no.19 contains test items of very short answer. It i$ aharks.
(viii) Outline maps of thevorld and India provided to you must be attached with your

(ix)
T
0]
(i)
(i)
(iv)

answer book.
Use oftemplatesor stencilsfor drawing outline maps is allowed.
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(V) o7 @@ 11 § 15 & 4 @g-3a7 ard 997 & SR g% & 4 5% &1 07 gAH g97
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(Vi) g7 F@r 16, 17 i 18 @ &-307 ard 997 & 6k §d% & 5 3% &1 U g 97
#7 Fa¢ 150 ==t @ Sifes 7&t grar @Ry
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(iX) @r-arfrT g9 & ford arer ar @Rt & 33T 1 s/t & ardr 2

State three closely linked tasks which human geography has to perform in line with
geography as a whole. 3x1=3

AT T H, Tl P faud # i, Th-gEr | e §9 § FEtd deg dF
o T S € 2

Distinguish between primary and secondary activities by explaining three points of3dcH3

&% & oA o5 gard gT wae qen fadiad Rkl § s T i |

Describe any three advantages of ocean transport. 3x1=3

HEMNR URaeT & fohwel oM @rdi &l au hifeTg |

Explain in brief, the three components which are required in systematic planning for
‘Resource Development.. 3x1=3

3T A Sraal A 98T H e HIT S GEEH & e ¥ grived sHds e
% fou smavEs 2

State any three important uses of water. 3x1=3

A % e dF YIE SUART FAEY |

How far do farm size, consumer demand and government support policies help in
increasing agricultural production ? Explain in brief. 3x1=3

TA F STER, ITHRHT & ART AR THR G Afcdl FF YPR HT SdR o |
TEEE & 7 &9 § AT HINT |

Name the two major sea-ports each of Maharashtra, Tamil Nadu and West Bengal.  6x%2=3

HERISE, dHa A1g a9 Uiged & § Ydsh & d-&l 9q@ g9l & 9 fafag |

State any three measures adopted recently to increase the agricultural production in
India. 3x1=3
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Draw or trace in your answer-book the outline map of India with the help of the map
given below and mark the following therein : 1+1+1=3

(9.1) Industrial region No. 1 with its name.

(9.2) Industrial region No. 7 with its name.
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For Blind Candidates only in lieu of Question No. 9.
Faq gRedH qdenifat # Rie we wer 9 @ wWH W)

Name one major industrial region of Maharashtra.
Which industrial region of India is known for iron & steel industry ?
Which industrial region of India is famous for the manufacture of jute textiles ?
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10. Study the following map and answer the questions given below : 3x1 =3
(10.1) Name the railway line shown in this map.
(10.2) In which country does this railway line lie ?
(10.3) Name the two oceans whose coasts are joined by this railway line.
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For Blind Candidates only in lieu of Question No. 10.

Faa ghed whenffdt 3 R v we 10 =W |

(10.1) Name the longest railway line of Canada.

(10.2) Name the terminal stations of this railway line.

(10.3) What is the importance of this railway line ?

(10.1) FTET & T T W@HAR FH1 9 fofigu |
(10.2) 28 @R & eifvaw R & Rl & 9 faRag |
(10.3) 9 I@HRT HT T HE © ?

11.

Explain any four typical features of rural houses in India.

ARA & THOT =X & fhel R (AT Teol &l ARaAr Hivd |

4x1=4

12. Distinguish between large scale industries and small scale industries by stating four
points of each. 4x1=4
% & 9R 95 a0 5T 92 TH % SERN SR BIE YW & SErl H IR TR
Elélii‘lﬁ! |

13. DEVELOPMENT OF SUPER HIGHWAYS IN INDIA

Project Dtal Connecting/Terminal Already Under Contracts Completion
Length Points Completed | Implementation to be Target
awarded for
Golden Delhi-Mumbai- Substantial
Quadrilateral 5,846 Kms. Chennai-Kolkata- 1,159 Kms. 4,551 Kms. 136 Kms. completion
Delhi by Dec. 2003
North-South Srinagar to
and Kanyakumari
East-West 7,300 Kms. 800 Kms. 688 Kms. 5,812 Kms. Dec. 2007
Corridors Silchar to Porbanda
Connectivity to Kandla, Jawaharlal
10 Major Ports Nehru, Mormugoa
Mangalore, Cochin,
363 Kms. Tuticorin, Chennai & 56 Kms. 113 Kms. 194 Kms. Dec. 2005
Ennore,
Vishakhapatnam,
Paradip and Haldia
Others 653 Kms. 136 Kms. 179 Kms. 338 Kms. Dec. 2007
Study the above table and answer the questions given below: 1+1

(13.1) What is the total length of Golden Quadrilateral ?
(13.2) What is the completion target of connectivity to 10 major ports of India ?
(13.3) Name the connecting terminals of North-South and East-West Corridors.

+2 =4
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14.

SUYh TRl 1 AT BT AR A 2T T gt & IR AT
(13.1) =T agys * %Ha T et & 2

(13.2) 9RA &% T9 Y@ T=CME! B SIS & B B Q B H q6 FT & 7

(13.3) A& IR gd-ufya Terar fopa-fpe eifeqm Tl @r ST 2

What is the meaning of ‘Human Poverty’ ? Describe three aspects of human life which
are used for the construction of ‘Human Poverty Index'.
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15. Study the graph given below and answer the following questions : 4x1=4
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(15.1) Name the country with which both the exports and imports of USA are minimum.
(15.2) What is the value of the exports of U.S.A. with Western Europe ?

(15.3) What is the total value of trade of U.S.A. with Japan ?

(15.4) What is the difference between imports and exports of U.S.A. with Canada ?
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16.

17.

18.

19.

(15.1) 39 37 & AW fafae s @ g4, smier & Fafd oiR emad o & a9
F E

(15.2) €1, @R & ushrdt T & feas gw @ ot fear o 2 2

(15.3) HAT. JHRHT FT UM & A& HA b I B AMR &

(15.4) FTST & AT H.A. FHARET & AT IR A A fhar dw ® 2

For Blind Candidates only in lieu of Question No. 15.

Faa ghed whenffdt 3 R v wom 15 3 ®|W |

(15.1) What is multilateral trade ?

(15.2) Whatis negative balance of trade ?

(15.3) Whatis positive balance of trade ?

(15.4) Name the organisation which regulates international trade.

(15.1) Jguelid =R fhg @ed & ?

(15.2) FUMS AR dqad fhe Fed & ?

(15.3) &¥ToTh @MUR |qad el Fed &

(15.4) =S AR & Ml & 9 G &1 9 9q1sy |

Define a slum settlement. Describe any four characteristics of slum settlements of the
world. 1+4=5
Af &I BN IRATYT BT | FER H Aferd aRadl & el ar faQware &1 o
HITT |

What is the density of population ? Explain four major factors influencing the density of
population in the world. 1+4=5

ST B B e Fed & 2 QR H TEE & g9 & Iiad B 9 9 e
HRhT I AT i |

What is ‘Human Development’ ? Why is Human Development necessary ? Give four
reasons. 1+4=5

qrg fae/ § | g § ¢ qd [ R Smasds § 2 IR BT ST |

(19.1) Inthe given outline map of th&orld (on page 11) provided to you, four features
are shown as A, B, C and D. Identify them with the help of the map legend and
write their correct names on the dotted lines given in the map. 4xY5=2

(19.2) On the given outline political maplofdia (on page 13) provided to you, locate
and label the following with appropriate symbols : 3x1=3
() A nuclear power plant in Uttar Pradesh.
() One major sea-port in Orissa.
(i) A state where Malayalam is mainly spoken.



(19.1) fiw 7T AR & ¥@-AFRE (I8 11 W) § 98 @& A, B, C 3R D ¥ fi@m 1o
g | AHfaS B Holl d GEEdl § 9 Yediy AR qEt § & T @fed @t
W I AL b FEl AW o |

(19.2) et fU T WRA & ToHaE F@-AFEE (I 13 ) § fefataa @ fufa
IUgH ol a a9Ey iR AW fafay -
() T sy H Rod uF wE] St G |
(i) SEET B UH YHE FHE-OE |
(i) TH T T A@AEH JEId: diel Sl 6 |

For Blind Students only in lieu of Q. No. 19.
Haw gREEN qieniRit @ R . | 19  ®E R
(19.1) Name the largest rice producing country of the World.
(19.2) Name the largest city of South America.
(19.3) Name the nuclear power plant in Uttar Pradesh.

(19.4) Name the major sea-portin Orissa.
(19.5) Inwhich state of India is Malalam mainly spoken ? 5x1=5

(19.1) §9R &% Tale®h aEad IATGH 33T Hl A7 Farsy |
(19.2) zferor SR & 999 98 TR & A9 Jarsy |

(19.3) IR YesT # Rord Usp WAL Sl A H1 9 {oiEy |
(19.4) ST § YA U Y@ FHE-00 Bl AW fafay |
(19.5) wRA & e T~ # qEIq: Aadmad il Sl o ?
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For question no. 19.1
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For question no. 19.2
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